
1,5582 L      =       ........................................................................................................     dm³

36,5808 m³      =       ........................................................................................................     L

81,319 L      =       ........................................................................................................     dm³

347 L      =       ........................................................................................................     dm³

50,17 dL      =       ........................................................................................................     L

55 L      =       ........................................................................................................     dm³

4 dL      =       ........................................................................................................     L

533,8871 m³      =       ........................................................................................................     hL

49 dL      =       ........................................................................................................     cL

93,918 cL      =       ........................................................................................................     dL

94,2894 m³      =       ........................................................................................................     hL

85,994 dL      =       ........................................................................................................     cL

427 L      =       ........................................................................................................     cm³

28,65 L      =       ........................................................................................................     hL

20 dL      =       ........................................................................................................     L



1,5582 L      =     1,5582 dm³

36,5808 m³      =     36580,8 dm³      =     36580,8 L

81,319 L      =     81,319 dm³

347 L      =     347 dm³

50,17 dL      =     5,017 L

55 L      =     55 dm³

4 dL      =     0,4 L

533,8871 m³      =     533887,1 dm³      =     533887,1 L      =     5338,871 hL

49 dL      =     490 cL

93,918 cL      =     9,3918 dL

94,2894 m³      =     94289,4 dm³      =     94289,4 L      =     942,894 hL

85,994 dL      =     859,94 cL

427 L      =     427 dm³      =     427000 cm³

28,65 L      =     0,2865 hL

20 dL      =     2 L


